PUPPY AND SUM Problem code: PPSUM
https://www.codechef.com/problems/PPSUM
(February Cookoff 2016)

Pé bai:

Ho6m qua, cht cho Tuzik da hoc dugc mot cach vo cuing hiéu qua dé tinh tong cac s6 nguyén tir 1 téi
N. Anh ta ky hiéu la sum(N). Vi ham tim toi, hdm nay anh ta d3 tu dinh nghia mot ham mai:
sum(D, N), ¢6 ¥ nghia 1a thao tac cdng trén duoc thyc hién D 1an: lan dau tién 1a véi N va nhirng lan
sau 1a v6i két qua cua nhitng thao tac trudc.

Vidy, néuD = 2vaN = 3 thi sum(2,3) = sum(sum(3)) = sum(1 + 2 + 3) = sum(6) = 21.
Tuzik muén tinh gia tri ham sum(D, N) tai mot s6 diém. Ban s& gidp anh ta cht?

Dir liéu vao:

Dong dau tién chira mot s6 nguyén T 12 s6 lwong bo test. Mdi test duoc miéu ta bai duy nhat mot dong
chua hai s6 nguyén D va N.

Dir liéu ra:
Véi mdi bo test, xuat ra mot s nguyén trén mot dong riéng biét.
Rang buéc:

e 1<T<6
e 1<D,N<4

Dir liéu mau:

Input: Output:
2 10

14 21

2 3

Giai thich vi du mau:

e B test dau tién: sum(1,4) = sum(4) =1+2+ 3 +4 = 10.
e B( test thw hai: sum(2,3) = sum(sum(3)) =sum(1+2+3)=sum(6)=1+2+3+
44+5+6=21.
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Huwéng dan giai:

Let f(x,y) is the sum of x; y times
_ sum(y)if x =1

feoy) = {sum[f(x —1Ly]ifx#1

(with sum(n) =1+ 2 + 3+..+n)

Code miu: PPSUM.pas va PPSUM.c
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PUPPY AND SUM Problem code: PPSUM

https://www.codechef.com/problems/PPSUM
(February Cookoff 2016)

Problem statements:

Yesterday, puppy Tuzik learned a magically efficient method to find the sum of the integers from 1 to
N. He denoted it as sum(N). But today, as a true explorer, he defined his own new function:
sum(D, N), which means the operation sum applied D times: the first time to N, and each subsequent
time to the result of previous operation.

For example, if D =2 and N = 3, then sum(2,3) equals to sum(sum(B)) =sum(1+2+3) =
sum(6) = 21.

Tuzik want to calculate of some of the sum(D, N) function. Will you help him with that?

Input:

The first line contains a single integer T, the number of test cases. Each test case is described by a
single line containing two integers D and N

Qutput:

For each test case, output one integer on a separate line.

Constraints:

e 1<T<16
e 1<D,N<4

Example:

Input:
2 Output:
1 4 10

2 3 21

Explanation:

e The first test case: sum(1,4) = sum(4) =1+2+3+4=10
e The second test case: sum(2,3) = sum(sum(3)) =sum(1+2+3)=sum(6)=1+2+
3+4+5+6=21

Solution:
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Let f(x,y) is the sum of x; y times
_ sum(y)if x =1

feoy) = {sum[f(x —-Ly)]ifx#1

(with sum(n) =1+ 2 + 3+..+n)

Code example: PPSUM.pas and PPSUM.c
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